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SECTION A — (5 x 5 = 25 marks)

Answer any FIVE questions.

1.  Explain Confidence Interval.

DHIRALT0SS0R DIBOHSD.

5

State Nevman's factorization theorem.

DS K688 HrroBoRy [HHDOBB.

3.  Explamn:
(a)  Null and alternative hypothesis and

(b) Types of errors.
(a) g s Pergpinod 585oySen nBatn

(h) &are B5ren SBoHBL.

4.  Explain large sample test for correlation coefficient.

BB0208 OESSLHEH TS 585 DIBEBo DI

Explain the large sample test for single mean. Construct 100(1—0{)% confidence interval for

wn

the mean.

2 Den> Wy HBUS 56K D¥B¥BommL. St 100(1-a)% DIPDAToBEIN DGR,

6.  Explain small sample test for as single mean.

DEDEFHI0VD o0 $8Y D¥BEBoBoB.
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Define t-test and write its properties.

t - 585 DEgDOD B0k & GOy ErauBw,

8. .Explain sign test.
2 3850 D¥BEBoWIL.
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SECTION B — (5 x 10=50 marks)

Answer ALL questions.

i ' . : “n’ vations rom a
Obtain a sulficient estimator for @ based on a random sample of ‘n’ obser

uniform population on [0 ()‘].
[0,6] s DEOBWES LD R S0l IS 0’ D
eS0T DER (5 Jo°g) BOTT GO Uﬂa)eao&,

epdeniio 2.8 o:ifcﬁa%é 3BEIPDHIVD

Or

Explain the criteria of a good Estimator.
2.8 3009 HOITEEID G0, oFeren D¥BEB0DIN.

State and prove Neyman — Pearson’s Lemma.
3558 - DABYS B (55D0D, AEDoIB.

Or
Obtain the region for testing @=8, against §=0, <48, in the case of a normal
population N(t?,o'z) where ¢ is known. https://www.andhrastudy.com
ecroses S N(0,07); o BOBSHpes 6=6, Do §=6, <, $8Fo D085

mm&g&’m.

Explain the large sample test for testing the significance of the difference between two
sample standard deviation.
Botd (HBEFS [E DSeTre sy dEsE Pard) 5880eH T8 S (BETD B85
DSBoEN. .

Or
Random sample of 400 men and 600 women were asked whether they would like to
have a flyover near their residence. 200 men and 325 women were in favour of the

proposal. Test the hypothesis’s that proportions of men and women in favour of the
proposal are same or not at 5% level of significance.

400 HHDen B 600 o Dirde @), CPEyeS SI0Tard 78 davn 9huHos o8
}3&;55 ST ORDEITN T €97 BGETE. 200 o8 Poen DB 325 2od e (BT HHE
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Explain paired t-test for the difference of mean in small samples
oS [SAErI0S sde t- 3055 3ETRD SEERVIAIRIAE eS8 S8800e0%H DSBoE0
Or

Explain Xz-test for goodness of fit.

dogrs ArKBDH y” - 5855 D3Bomw.
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What are the advantages of non-parametric tests and explain Run test for two samples?

13. (a)
@ITEAD HBKL So¥ETed Benyin. 28w Bodk BB S 85D DS3Bopsw.
Or _
(b) Distinguish between parametric and Non- parametrlc test. Explain Median test
procedure.
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